
SQUEEZE

Mogens Esrom Larsen

November 14. 2006

Dealer: North

Zone: none

♠ 9 8 3 2

♥ A K 6 3

♦ K J 4 3

♣ 4

Bidding

North East South West

P P 1 ♠ P

2 N1 P 3 N2 P

4 ♣3 P 4 ♦3 P

4 ♥3 P 6 ♠ All P
1 11 p, 4 ♠
2 no singletons
3 cuebid

♠ 7 5 4

♥ 8 2

♦ Q 9 8 7 2

♣ K 7 5

N

W E

S

♠ Q

♥ Q 9 7 4

♦ 10 6

♣ A J 10 8 6 3

♠ A K J 10 6

♥ J 10 5

♦ A 5

♣ Q 9 2 Lead: ♥ 8

Typeset by AMS-TEX



2 MOGENS ESROM LARSEN

Solution:

West North East South

1 ♥ 8 ♥ A ♥ 4 ♥ 5

2 ♣ 7 ♣ 4 ♣A ♣ 2

3 ♣ K ♠2 ♣ 10 ♣ Q

4 ♠ 4 ♠ 3 ♠ Q ♠A

5 ♠ 5 ♠8 ♣ 3 ♠ 6

6 ♠ 7 ♠ 9 ♣ 6 ♠K

7 ♦ 7 ♦ 3 ♦ 6 ♦ A

8 ♦ 2 ♦ J ♦ 10 ♦ 5

9 ♦ 8 ♦ K ♣ 8 ♥ 10

10 ♦ 9 ♦ 4 ♥ 7 ♠10

11 ♥ 2 ♥ 3 ? ♠J

The situation after trick no. 10 is:

♠ –

♥ K 6 3

♦ –

♣ –

♠ –

♥ 2

♦ Q

♣ 5

N

W E

S

♠ –

♥ Q 9

♦ J

♣ –

♠ J

♥ J

♦ –

♣ 9

If East throws a ♥, then North gets 2 tricks in the suit, and if East

throws his ♣ J, then South takes his ♣ 9.
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